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Name _____________________________	  			Date_______________
Multiple Choice
1. There are _____ bones that form the face?
a. 12
b. 22
c. 14
d. 8

2. The purpose of the ribs is to protect the ______ & ________. 
a. Stomach
b. Heart
c. Lungs
d. A & B
e. B & C

3. Which bone of the shoulder girdle attaches to the axial skeleton?
a. Radius
b. Humerus
c. Clavicle
d. Scapula

4. The 5th digit of the hand is the ______ finger?
a. Thumb
b. Index
c. Middle
d. Ring
e. Pinky

5. The tibia and fibula articulate with the _________ inferiorly?
a. Patella
b. Metatarsals
c. Femur
d. Carpals
e. None of the above





6. There is only _____ joint(s) in the head that moves.
a. None 
b. 1
c. 2
d. 3

7. The sternum articulates with the ________ ribs.
a. True
b. False 
c. Vertebral column
d. Floating

8. The radius and ulna articulates with the ________ superiorly.
a. Carpals
b. Tarsals
c. Humerous
d. Tibia

9. The pelvic girdle consists of ______ flat bones
a. 2
b. 3
c. 4
d. 5

10. The 3 parts of the sternum are the ______, _______, and ________. 
a. Body, spinous process, facets
b. Manubrium, body, facets
c. Body, manubrim, xiphoid process
d. None of the above

11. The longest and strongest bone of the body is the ___________. 
a. Femur
b. Humerus
c. Vertebral column
d. Tibia

12. Which of the ribs are considered floating ribs?
a. 1-7
b. 8-12
c. 1-12
d. 11-12

13. The only bone in the face that moves is the ________.
a. Frontal
b. Zygomatic
c. Mandible 
d. Temoral

14. The 8 bones fused together with sutures is called the _________. 
a. Skull
b. Face
c. Cranium
d. Parietal

15. The section of the vertebral column that supports most of the body’s weight is the _________.
a. Cervical
b. Thoracic
c. Lumbar
d. Sacrum
e. Coccyx

Matching
16. 8 bones that make up the wrist				a.  ulna			f. carpals
17. Bones in the shoulder girdle				b. fibula		g. tarsals
18. Also called the knee cap					c. humerus		h.  patella
19. Long bone in the upper arm				d.  scapula & clavicle	i. tibia
20. Larger bone located medially in the lower leg		e.  sternum & clavicle	j. femur

Completion
21. There are _______ bones in the vertebral column. 

22. There are __________ bones in the fingers of 1 hand. 

23. The ____________________ are the 5 long bones of the foot. 

24. The _____________ section of the vertebral column articulates with the ribs. 

25. The spinous process, facets and body are the 3 parts of a __________________. 		

